
Onderdelen / Teile / Dele / Reservdelar

28 311329K

Onderdelen / Teile / Dele / Reservdelar

1

23

8

3

10

11

12

13
9

5

1 17

1

2

Lubricate, then 
torque to 20-25 ft-lb
(27-34 N.m)

3

4

Torque to 30-40 in-lb
(3.4-4.5 N.m)

Purchase separately

Lubricate

4

3
2

1

2

ti9626c

*included in
needle kit 2

1a 17

Flex-spuitpistolen / Flex Spray Pistolen / Flex-sprøjtepistoler / Flex sprutpistoler

Silver airless spuitpistolen / Silver Airless-Spritzpistolen / Airless Silver-sprøjtepistoler / Silver Airless sprutpistol



Onderdelen / Teile / Dele / Reservdelar

311329K 29

Onderdelen / Teile / Dele / Reservdelar

See page 3 for models.

Ref.
No. Part No. Description

Qty
.

1 220247 TIP GUARD, fine finish, model
235462 only

1

220251 TIP GUARD, standard, models
235458, 235460, and 235461

1

246215 HANDTITE TIP GUARD, RAC X
models 246240 and 246468

1

243161 HANDTITE TIP GUARD, RAC V
models 243283 and 234237

1a XHD001 HEAVY DUTY RAC tip assembly,
models 235464, 238591, and
257093

1

2 235474 NEEDLE KIT, all models except
235462

1

235475 NEEDLE KIT, model 235462 only 1
3 102207 SETSCREW, 1/4-20 1
5 235483 FLUID HOUSING 1
6 191872 ADAPTER, models 235458 and

246468 only
1

7 187972 FLUID HOUSING, models 235458
and 246467 only

1

8* 187985 TRIGGER, two finger 1
9* 188127 TRIGGER, four finger 1
10 187965 PIVOT PIN 1
11 235471 GUN HANDLE 1

12 203953 SCREW, hex washer hd, 10-24 1
13 107091 SCREW, 1/4-20 2
15 222385 WARNING CARD not shown 1
17 LTX517 RAC X SwitchTip, size 517, models

246240 and 246468
1

XHD617 HEAVY DUTY SwitchTip, size 617,
model 235464 only

1

XHD619 HEAVY DUTY SwitchTip, size 619,
model 238591 only

1

XHD665 HEAVY DUTY SWITCH TIP, size
665, model 257093 only

1

286517 RAC V Switch Tip, size 517, mod-
els 243283 and 234237

1

FFT210 RAC X Fine Finish Tip, model
249941 only

1

23 246453 OneSeal, RAC X, (5 pack), models
246240 and 246468

1

243281 OneSeal, RAC X, (5 pack), models
243283 and 234237

1

25 218139 HOSE HOLDER, models 235458
and 246468 only

1

26 107257 CAPSCREW, 1/4-20 x 1/2, models
235458 and 246468 only

1

Ref.
No. Part No. Description

Qty
.


